RETFXAE+ =4tk ¥HE sin 02

1. ROEMH=EMEET O ERD X 2720, 0°<0<180°. (SH40%, Afk14y, BH#24r, C#347)

(1) sinf = % (2) sinf=0 (3)  sinf — @
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2. ROZBERMERT O ERDE. 7L, 0°<0<180°. (SH35R, A#k14y, B2y, C#%345)

(1) sinf = (2)  sinf=1 (3)  sinf = %

Sl

(4) sinf =0 (5) sin @ =

w@

(6) sinf= @
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RETAL =tk #H sin 02 RBRERRS

1. ROEMH=EMEET O ERD X 2720, 0°<0<180°. (SH40%, Afk14y, BH#24r, C#347)

* 15°, 75°, 90°DEA=ARZ O =X, Bl
(V6 —v2): (VB+v2):4

: 1 6 —
1) sinf = (2)  sinf=0 (3)  sinfd = ?
6 = 30°, 150° 6 = 0°, 180° 6 = 60°, 120°
4) sinf =1 (5) sinf = % (6) sinf — \/61' V2
6 = 90° 6 = 45°, 135° 6 = 75°, 105°
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2. ROZBERMERT O ERDE. 7L, 0°<0<180°. (SH35R, A#k14y, B2y, C#%345)

. 1 . . 1
1 = —— (2) =1 ==
(D sin 7 sin (3) sin 5
0 = 45°, 135° 6 = 90° 0 = 30°, 150°
(4)  sinf =0 (5) sm9:§ ©)  sing— \/52\/5
6 = 0°, 180° 6 = 60°, 120° 6 = 15°, 165°
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